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ECONOMICS

Maximum : 80 Scores

General Instructions to Candidates :

al3jodmolaidaonas oanmymldeguommsed :

There is a ‘Cool-off time” of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malavalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall. -
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Match the column B & C with A - Bx1=5)
I A B C
General theory of employment CRR Equilibrium output
interest and money
SLR Effective demand | USA
AD=AS 1936 RBI
Public good 1929 LM. Keynes:
| Great depression Defence Roads
Qn. No. 2 to 6, write the correct answer. Each question carries 1 score, (5x1=5)
; : Change in output -
Write the economic term of Chan ;;;:ﬂnpul: .
Petroleum refining and marketing in India is the closest example of
(@ Monopoly (b)  Oligopoly
(¢)  Perfect Competition (d)  None of these
In an open economy, if C = 0.7, m = 0.2, calculate the value of mthiplier:
In a centrally planned cconomy all major economic decisions are taken by
(a) Market (b) Govermnment
(c) Private Producers (d) None of these
When the existing price is higher than the equilibrium price
(a) Market demand is higher than market supply.
(b)  Market supply is higher than market demand,
(¢) Market demand is equal to market supply.
(d) None of these
Answer all questions from 7 to 11. Each carries 2 scores. (§x2=10)

The supply curve of a firm depends on many factors. Point out any two,

Differentiate between Balance of Payment (BoP) and Balance of Trade (BoT).

(a)  Write down two most important characteristics of monopelistic competition.
(b) Differentiate the price and output prevailing in the monopolistic competitive

market with that of perfectly competitive market,
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10. Beginning on 15 August 2018, severe floods affected Kerala due to unusually high
rainfall. The state government has hiked the excise duty on liquor and by which, it is
expected to raise revenue to ¥ 750 crore. Suppose the MPC (Marginal Propensity to
Consume) of the same product is only 0.8, then calculate the tax multiplier and its

_ effect on income.

11

{a) Complete the given diagram.
(b) Mark the real flow and money flow.

Answer any 6 questions from 12 to 18. Each carries 3 scores. (6 x3=18)

12. In the open market, the price of rice/kg is ¥ 35. Assume that the poor people cannot

' afford to purchase rice at this price. To protect the poor people. the government decided

to offer rice at a minimum price of ¥ 2/kg through ration shop. Identify the economic
term of this situation. Draw a diagram to illustrate this.

13, Pau] A. Samuelson used the concept Production Possibility Curve to explain the
” economic problem of a society. Draw the Production Possibility Curve on the basis of
the given schedule.

Possibilities : Wheat Machine
(in lakh tonnes) (in thousands)

15
14
12
9

mim|{Z| 0%
Wl da W (k=D

14. flndian Rupee has been on a free fall since past few months. Rupee has lost more than
20% of its value this year when compared to last year. In this context, identify the
important factors responsible for such a flexibility in the exchange rate.

15 Prepare a shori note on the concept of speculative demand for money with the help ofa
dia
RV
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16.

19,

20.

21.

el

Suppose the price of tomato per kg. is T 10, Ms. Mittu purchase 2 kg of tomato, If the

price rises to T 15, she buys 1 kg. Based on this information
(a) Draw the Demand Curve.
(b) Find out the Elasticity of Demand.

Great depression was a severe worldwide economic depression

that took place mostly

during the 1930, beginning in the United States. Prepare a brief note on it.

Define the concept of GDP deflator. Calculate the GDP deflator from the following

data and analyse it.
e In2015. the GDP at current price is T 8.500.
e In2015, the GDP at constant price is ¥ 7.000.

Answer any 4 questions from 19 to 23. Each carries 4 scores. (4 x 4=16)
Complete the following table :
Output TFC TVC ¢ | MC |

0 100 | '

1 100

2 75

3 375

4 | 400 J

(a) Distinguish between MPC and MPS.

&

(b) Calculate the value of multiplier and income generated when there is an additional

investment of ¥ 100 crore in an economy.

MPC Value of multiplier

Income generated

02

0.5

0.8
s

-

/(@) Define the monetary policy.

/(W Reserve Bank of India controls the money supply in the country through its

) instruments. Analyse them.

QD=500—P
QS=300+P -
(a) Calculate the equilibrium price and quantity.

Sy Tyeaw a diaeram based on equilibrium price and quantity.
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23.  Short run production function is different from long run production functions.
(a)  Identify any two important differences between the two.
(b) Draw the Average Product and Marginal Product Curves.

Answer any 2 questions from 24 to 26. Each carries 5 scores. 2x5=10)
24, Statement I : Indian Railway (IR) is India’s National railway system operated by the

Ministry of Railways.

Statement IT : ONGC, ESSAR, Reliance Ltd. etc, are the oil extraction companies in
the country.

(a) Identify the closest market form associated with the above statements.

(b) Point out the features of each market form,

(¢) List out two differences between these two market forms,

25. (a) Mention the methods of National Income accounting and explain briefly the
expenditure method,

(b) Calculate the GNPy from the following data :

Item Rupees (in crores)
NDPp. 10,000
Depreciation 2,000
Net Indirect Tax (NIT) 1,000
Net Factor Income from Abroad (NFIA) 5,000
26. AS
E, AD =R +CY
AD ===~
i :
1
1
[]
L]
0 Y

1
The above figure shows an equilibrium in the product market.

Suppose an Autonomous Investment (AI) increases by T 100 crores, and MPC is equal
to 0.8, what happens to the AD and equilibrium income ? Explain this with the help of
a diagram,
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28.

29.

Answer any 2 questions from 27 to 29. Each carries 8 scores. (2x8=16)

Ms. Sudha wants to consume apple and oranges. Her income is ¥ 400. The price of
apple (Good 1) is T 80/kg. and the price of orange is T 50/kg. On the basis of this data

{a) Draw the budget line.
(b) Write the equation of budget line.

(¢) How much kg of apple that Ms. Sudha can consume if she spend the whole
income on that good alone 7

(d) What is the slope of the budget line ?

(¢) Draw the new budget line in the same graph if her income falls to ¥ 200
remaining same the price of two goods.

(f) What happens to the budget line if the price of apple rises to T 100 but income
and price of orange are remaining constant ? Draw a new budget line.

In a perfectly competitive market, the firm wishes to maximize its profit.
(a) Identify the conditions with the help of a diagram.
(b) Explain the profit maximization of a firm in the short run.

(¢) In the long run, a perfectly competitive firm earns the normal profit. Do vou agree
with this 7 Graphically substantiate.

5L No. Item Amount (T)
1. Revenue Receipts . 50.000
2. Capital Receipts 30,000

(a) Borrowing and other liabilities (¥ 13.000)
(b) Non-debt creating capital receipts (¥ 15,000)

3. Revenue Expenditure (including interest payments) 65,000
4, Capital Expenditure 15,000
5. Interest Payments < 10,000

(@) Write down the equation for calculating Revenue deficit, Fiscal deficit and
Primary deficit.

(b) Calculate Revenue deficit. Fiscal deficit and Primary deficit from the given data.
(c) Suggest any two measures to reduce the Fiscal deficit in the country.
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27, Wan auw GRaflgl S0 A @RYNaTlENTN). ERAUBHS ALBAIM 400

QoM. B0} SleeEe MR figlan aflel (BMoaem® quawma) 80 ojaIwosn.
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29. [ miloload @b
maud oo (@)as0iod)
L. QOUIMY) AURBIMe 50,000
28 MEILM UDAIMe 30,000

(a) g ag) oW (X 15,000)
(b) @smaeoenoTm BRIWM AN (X 15.000)

B 0AIMY AaILINNSUD (a1l @RSONUB.|eS) 65,000
4. DIEIWMD B IEIO ) UB 15,000
5. aeflud arSaeud 10,000
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